A3 FTTx 2 k8 AR 7= ¥

VR

i & p ed T ICT (Information and Communication Technology ) 7 if 3 &
F2 Pd g R R EAFHWRAEANPITAA 2LF RO T REZAEFT RN
HHA B P PR MR AR A A BTV BB ¢ R A B AR
FIAHWs AEFir4 4 F 8 LAAT B
AL S
LS A S R R e Lk SR s o i

1A% % o
N I N IS RTE
CFEYPW I3 E 129 27 p(A M)
S Y peogh o
S PEER B A A sl EMES R Y A1 B2

m \\Xr

¥ o
Y AN AP TRPNPIER - BS520 5 -
A R M N
FE - gcéc A ﬁ :
- W D RET I HEPRFE TS S RFLERIER S L
S AR A B 20 (RPIFR 2 KA RREL R AL )
SN FR LGN

- SBRRIFLTPA2T 113 E 127 17 P w3 L0 fEak 50k o
Z ~3F Ly ! Google % H https://forms.gle/G69hLxb3CiaFnVHj9
S B AR 2R {8 > 12 E-mail i Fv e
2N - S
- P EAEA R uEL (R RpEgi Al ).
CEHFT R EIREF (FEAHF LT )
EZ Tl
- AR AR R AR e R B PR R L = 02-26574874 4 48 261

4) B BAKLZRY Y RIRBE ik RpET o

:: ‘:‘Zi—’ — o
T AZET o BEMS I T M RET 22 o
kil \j\—‘g-l»%é rBl}%'\FTTX7 ,Egéq %ji,{ﬁ'#ﬂ_%)J‘%J 7)o



M- D RER RV R

K ghs B I Y AR

T4 PYpE ka

KR R 10:00-11:00

(334 aqFFEE)

o e L 13:10-15:00

==




OFRCHLHHEEE

& 00k

W[

> (B & & % & | u s = |
7 ehER _I_

sh) o

&2

o
B

20(& # B

a—

3 (B irel) o
F

T

.,

16 (HiF B k) o

=
A

7~ 26 1
0 % ~ 202~ 551 ~ 646 ~ 652 ~

A
\5’,‘

o)

21 ~ 28~ 110 ~ 222 ~ 247 ~ 267 ~ 268 ~ 286 ~ 287 ~ 620 ~ 646 ~ 677 ~

214 ~ 278 ~ 552 ~ 553 ~ 1801 ~ -] 2

0 R
®E B =
W = = N ¥ L) !
A2 A = = Y adLb
ETT) HE | » = ===
= H =u * = ® | m=v | =as [on|
1 IR br B REw | =D =
El= = _ EUGHEB m=as [on|
1 b e _HHE _anw _hlm wEE =5 -3 _ BT _m ERs 3
= H [semz] === LI ED =
L ETHER ] =am
2 EES A= 4
E= = =4S | XEES |[SHESE FRSEE |
5w B L] _m FuoEH
u_mcunum_ TEEES m ERLTH STTHED 46 mm_.%
‘
& = = -M
=
= ] _ ETHHEH -
— |l =
ETHHEE
=
ETHEEE
H—F wo-ﬂ LU 20D 201D o T TOHD X134 H—F
RE
HH 1]+ 023 L0%D 20TD 02D F0Z3 $0TD z0TD (X141 Hm ﬂ!" m M@*Eh&ﬂ -
= Pl
% 108D 205D 3050 05D 05D T0ED (X1 = PP M*ﬁmﬁm =
1€ LT FuND FEZFE | s@aes i€ =
% eerD F0rD L0972 20rD F0¥D FOrD TOrD Tord 31 2 H—w
% N‘Jm.mwmdnv [-1-15] L09D 209D 3053 rosd 209D 09D (315 % -
e g = = £
Ll N Ll = ==
Sesa g =+ —1 = w\.m Mmm
H—F W 18 & [N %] E49 %] TEED H“va ‘hmma T u—.
—~ [ 1%~} (9% =] LTI TLTD FLZD FLED gLTD
= A ERERT swzes |70 42
uﬂ n F0TD [ 1] (1% =] 3%+ THED THED FETD 93D T H—m
H——._- ~n (13 ] FEFD TLFD THFD FLFD 1% o] B HFD LiFD an H—q
[ 2% =] (3% =] (4% =) TLED FLED
SER KGlon| oem= =REE =B EY sazs TEEE o | 46




FITIARSZRIERESERET Y L —HEE R

W C —_— 3 B117 W c
B113 o 85 kAT #Hip & k) B117 B120
#H4m spps |MOT B |KE=% Rex AL
KHLY ¥x £H LY
= —— =
BHE = | =
- E . T él B121
T eoosid
= o | =9
! 102 - 122 B#E
B110 0 S B101 ;;_.
R — gz |° & A RAAE B123
BHE B ¥ ¥ ik A% .
Bl LA
109A ## ‘ri’f“’”
; (=)
Bi11
RELy s E B103 31_24
SRR YA
T, B PR N
B
- RETH x
skl ans PE IR |
) v
1 ’ 107 ## [tﬁ we




